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1. Anillness that is likely to be fatal is 7. Choose the word appropriate in meaning to the
(A) Mortal word underlined below:
(B) Serious The listeners were delighted by the music concert.
(C) Slight (A) Surprised
(D) Temporary (B) Saddened

(C) Angered

2. An orthopaedist deals with (R EaciEd

(A) Eyes : .
(B) Lungs 8. Put in a correct participle in the blank space:
(C) Bones The car was down the slope.
(D) Childbirth (A) rolling
(B) breaking
(C) lost
3. An Epicurean is one who (D) having arrived

(A) Endures
(B) Suffers

() Enjoys pleasute 9. Choose the correct meaning of the word from the

alternatives given below:

(R Eaves A la mode
(A) Fashionable
4. Fill in the blank with the correct word given (B) Cheap
below: (C) Expensive

He wanted to out. (D) Convenient
(A) want
(B) ask 10. ‘Cinema’ may be used with
(C) call (A) Cooking
(D) order

 (B) Selling
(C) Sleeping

5. Fill in the blank with the correct word given (D) Theatre

below:
He saved her certain death. 11. Select the correct meaning of the idiom
(A) from underlined below:
(B) with Everything was at sixes and sevens.
(C) of (A) Disordered
(D) in (B) Lost
(C) Found
6. Fill in, with relative pronoun, the blank space e
below: -
The man briefcase was lost, reported 12, lnsert_ proper words in the sentence:
to the police. Here is the man you asked
(A) that (A) whom, about
(B) whose (B) that, for
(C) which (C) for, from

(D) whom (D) this, for




13. Use suitable auxiliary verb to fill in the blank
space:
You catch the train at once.
(A) will
(B) can
(C) shall
(D) must

14. Fill in the space with an infinitive:
It is easy but hard to finish.
(A) toend
(B) to fall
(C) to lose
(D) to begin

15. Fill in the blank with the correct word:
he was late, he come home by nine.
(A) Even
(B) Although
(C) Because
(D) Despite

16. Fill in the blank with the correct word:
The river was the bank.
(A) overflowing
(B) dry
(C) full
(D) deep

17. Fill in the blank with the correct word:
A jewel was in the locker.
(A) browning
(B) filling
(C) shining
(D) moving

18. ‘Made up his mind’ means
(A) Remembered
(B) Resolved
(C) Forgot
(D) Lost

19. Select the correct meaning of the idiom
underlined below:
He is a dark horse.
(A) Silent
(B) Secretive
(C) Dangerous
(D) Possessing a secret ability
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20. Sorrow may be expressed by the following
interjection:
(A) Hurrah!
(B) Bravo!
(C) On!
(D) Alas!

21. ‘At daggers drawn’ means
(A) Friendly
(B) On bad terms with
(C) Acquainted
(D) Unknown

22. Insert proper preposition in the sentence.
He was waiting the train.
(A) in
(B) at
(C) for
(D) with

23. Insert correct word in the blank space:
Finish your task in a
(A) swift
(B) competent
(C) silent
(D) lazy

manner.

24. There wasno in the rain. (Insert correct
phrasal verb)

(A) letup

(B) letin

(C) let off

(D) let go

25. Choose the word opposite in meaning to the word
underlined below:
The darkness covered the whole countryside.
(A) Silence
(B) Stillness
(C) Light
(D) Noise
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27.
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30. Which one of the following animal phylum is

Necton are

(A) floating organisms in water.

(B) swimming organisms in water.

(C) animals associated with aquatic plants.
(D) sub-merged plants in water.

1 nm is equivalent to
(A) 10A

(B) 100A

(C) 10pm

(D) -0lmm

Barr body is absent in somatic cell of

(A) Klinefelter syndrome individual

(B) Tripple X syndrome individual

(C) Turner syndrome individual

(D) Sub-human mammalian female individual

A mammal that lays eggs:
(A) Talpa

(B) Echidna

(C) Pteropus

(D) Lemur

latest by discovery?

31. Conversion of CH3C = CH to CH3CH = CH2

needs

(A) Pogonophora
(B) Kinorhyncha
(C) Loricifera
(D) Ctenophora

(A) Lindlar catalyst
(B) H,/Pd
(C) NaBH,
(D) LiAlH4

D-4

32.

33.

35.

37.

Conversion of RBr to RMgBr requires
(A) Mg/ dry ether / Nz-atmosphere.
(B) Mg/moist ether / N,-atmosphere.
(C) Mg/ ethanol / N,-atmosphere.
(D) Mg/ dry ether / O,-atmosphere.

The fastest SN' reaction is of the followings:
(A) MeO-CH, -Cl
(B) Me-CH, -Cl

o}

Il
(€) Me-C-CH,-Cl
(D) Ph-CH,-CH,-Cl

An example of modified underground stem is
(A) Carrot

(B) Potato

(C) Groundnut

(D) Turnip

Crossing over occurs during meiosis at
(A) Leptotene

(B) Anaphase - I

(C) Pachytene

(D) Diakinesis

“Particulate theory of inheritance” was proposed

(A) Charles Darwin

(B) Gregor Johann Mendel
(C) Herman Muller

(D) T.H. Morgan

What is a bacteriophage?
(A) A virus

(B) A bacterium growing in artificial nutrient
medium

(C) A fungus causing disease
(D) A phagocytic protozoa




27.

28.

29,

31.
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(D) e st Sfen |

Inm-4< 7« 257
(A) 10A
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(A) FiEaEo e Ifers |

(B) Toeim X Pice afets |

(C) Bifiz Pice gfers |

(D) SiEEs ooea fFwtas Bl aifie fowz)

«3fb foaeiret T A1 2
(A) S&=f

(B) «fFest

(C) (oAl

(D) ==

fawfats @im 21T wiRanf ke Ara iR
(A) coATstitica

(B) aRfa=t

(C) wfaPat

(D) fortieerat

CH,C = CH-F CH,CH = CH,~9 :=I¥q 40

(A) Lindlar catalyst
(B) H,/Pd
(C) NaBH,
(D) LiAlH,
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32.

33.

34.

35.

37
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RBr-(% RMgBr-¢9 F#ll®d 409 #1903
(A) Mg/ dry ether / N, -atmosphere
(B) Mg/moist ether / Nz-atmosphere
(C) Mg/ ethanol / N,-atmosphere
(D) Mg/ dry ether / O,-atmosphere

weey SN' fafeat 3
(A) MeO -CH, -Cl
(B) Me - CH, -Cl

1
(C) Me-C-CH,-Cl
(D) Ph-CH, - CH,Cl

ARG el Pea Trzd
(A) e

(B) il

(C) Bitwt am

(D) =S

-z 1w bR eorg 37 3 Wi /T
(A) @I

(B) SIS

(C) ~nffom

(D) ©RIPREE

eaifen SAfbgeet e at Toam aada FEw
(A) BT BIE3A

(B) (57 (IRl GICe

(C) I &9

(D) . @2p. AP

Fhfaewe Jie
(A) «=fb ©izam
(B) Ffam +if8 W @we ot i

(C) RPN 2@
(D) FCsIiEb cAGTE
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38. The nature of stele in primitive vascular plants
was

(A) Protostele
(B) Siphonostele
(C) Dictyostele
(D) Atactostele

39. Which of the following processes makes direct
use of oxygen?

(A) Glycolysis

(B) Fermentation
(C) Citric Acid Cycle
(D) Electron transport

40. The wellknown antibiotic penicillin is obtained
from this plant group:
(A) Algae
(B) Fungi
(C) Lichen
(D) Angiosperm

41. The strongest electropositive element is
(A) Cs
(B) Li
(©) Mg
(D) K

42. Geometry of SF, is
(A) square planar
(B) tetrahedral
(C) octahedral
(D) see-saw

43. A reaction is spontaneous when

(A) AG=-ve
(B) AH=-ve
(C) AS=+ve
(D) AS=-ve

44. ‘RADAR’ stands for
(A) Radio Detection and Ranging
(B) Ready Advanced Appliance for Ranging
(C) Range Detection Appliance for Airplane
Ranging
(D) Ready Advanced Airplane Ranging
45. A body is acted upon by two unequal forces in
opposite directions, but not in one line. The effect is that
the body will have
(A) only rotational motion.
(B) only translational motion.
(C) neither the rotational nor the translational
motion.
(D) rotational as well as translational motion.

46. A shaving brush is dipped in water. When taken
out the hairs of the brush are seen to be drawn together
due to

(A) surface tension of water.

(B) viscosity of water.

(C) elasticity of the hairs of the brush.

(D) temperature difference between air and
water.

47. ‘Red’ is used as a danger signal because

(A) blood is red.

(B) red light is scattered least by the air
molecules.

(C) red colour is easily available.

(D) red colour is soothing for eye.

48. The immersed portion of a piece of pure ice
floating in water is

(A) gth of ifs volume,
(B) %th of its volume.
(C) %th of its volume.

(D) %th of its volume.

49. The electric appliances in a house are connected
(A) in series.
(B) in parallel.
(C) either in series or in parallel.
(D) both in series and in parallel.




38. 2AbW Az ooy A8 (vascular) Efen
g afe fom
(A) CHIBIFSRE
(B) ARG
(€) fEfpeioE
(D) SHiGIcRoE

39. e e afen am e sRre e

2q?
(A) #RRERE
(B) &
(C) iRl wnife v
(D) Zreig sAfaaes

40. F#ifafoe spfSaae cifvfifm @2 wrsh Sfer
(TS e A 3
(A) Cefate
(B) =ai®
(C) =2
(D) @G

41. AR =@ electropositive GNETD 2&1
(A) Cs
(B) Li
(C) Mg
(D) K
42. SF,®93 07 =
(A) 3frwa 2=
(B) o=
(C) TBeEFI
(D) cofe=eat

43. «=fb i Forys o3, 74

(A) AG =-ve
(B) AH =-ve
(C) AS =+ve
(D) AS =-ve
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44. ‘RADAR’-«3 9¢ 75
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47.
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(D) 97 SO % e |
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(B) ISR e |

(C) fTesty At FAreaE JeEiy |
(D) e @32 el Hea |
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50. Thematerial used for safety fromnuclearradiation
is
(A) Copper
(B) Platinum
(C) Iron
(D) Lead

51. A resolution to deploy U. N. monitors to monitor
evacuations of civilians from Aleppo (Syria) was
adopted in December 2016 by

(A) U. N. General Assembly

(B) U. N. Security Council

(C) U. N. Secretariat

(D) International Court of Justice

52. In December 2016, China launched a new cargo
service connecting Tibet to
(A) India
(B) Nepal
(C) Pakistan
(D) Bangladesh

53. George Yeo, who recently resigned from the post
of Chancellor of Nalanda University was formerly a
politician of

(A) Australia
(B) Korea
(C) Vietnam
(D) Singapore

54. Marcelé Rebelo de Sousa has won the
Presidential election of
(A) Spain
(B) Portugal
(C) Italy
(D) France

55. The Italian Prime Minister who resigned in
December 2016 after voters rejected Constitutional
Reforms proposed by him, was

(A) Matteo Renzi

(B) Paolo Gentiloni
(C) Sergio Mattarella
(D) None of the above

D-8

56. Who was appointed in November 2016 as army
chief in Pakistan?
(A) Raheel Sharif
(B) Qamar Javed Bajwa
(C) Zubair Hayat
(D) Pervez Musharraf

57. Which Bollywood personality was honoured
with a Lifetime Achievement Award of the 2016 Dubai
International Film Festival (DIFF)?

(A) Amitabh Bachchan
(B) Hema Malini

(C) Rekha

(D) Jeetendra

58. The 2016 Nobel Prize in Economics was won
by
(A) Oliver Hart and Bengt Holmstrom
(B) Angus Deaton and Jean Tirole
(C) Patrick Modiano
(D) Arthur B. McDonald

59. Which of the following states does not have veto
power in the U. N. Security Council?
(A) United States of America
(B) United Kingdom
(C) Canada
(D) France

60. Which authority in India recently ordered the
playing of the National Anthem in all cinema halls
across the country before the screening of a movie?

(A) Supreme Court of India
(B) President of India

(C) Prime Minister of India
(D) Speaker of the Lok Sabha

61. The 2022 Commonwealth Games is scheduled
to be held in
(A) Cape Town
(B) London
(C) New Delhi
(D) Durban
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62. The name of Vikas Krishnan is associated with
the sport
(A) Shooting
(B) Archery
(C) Boxing
(D) Swimming

63. The International Day for the Preservation of the
Ozone Layer is observed on
(A) September 12
(B) September 14
(C) September 16
(D) September 20

64. The 2016 G-20 Summit was held in
(A) China
(B) USA
(C) Canada
(D) France

65. The UNHCR Nansen Refugee Award of 2015
was won by
(A) Malala Yousafzai
(B) Aseem Ali
(C) Ageela Asifi
(D) Kalam Azad

66. In which country was a lost city dating more than
7,000 years back unearthed in November 20167
(A) Israel
(B) Palestine
(C) Egypt
(D) Syria

67. Oscar Award 2016 for best actress was won by
(A) Cate Blanchett
(B) Charlotte Rampling
(C) Jennifer Lawrence
(D) Brie Larson

D-10

68. In November 2016, who resigned from the post
of Editor-in-Chief of the ‘Times Now’ news channel?
(A) Amab Goswami
(B) Rajdeep Sardesai
(C) Barkha Dutt
(D) Sagarika Ghosh

69. Who is the author of the book ‘An Era of
Darkness : The British Empire in India’?
(A) Amrish Tripathi
(B) Hamid Ansari
(C) Shashi Tharoor
(D) Romesh Dutt

70. The Mullaperiyar Dam is a cause of discontent
between

(A) Maharashtra and Gujarat
(B) Tamil Nadu and Kerala

(C) Odisha and Andhra Pradesh
(D) Gujarat and Rajasthan

71. Who takes over as the Indian Airforce Chief
when Arup Raha retires on 31, December 2016?
(A) Birender Singh Dhanoa
(B) Arjan Singh
(C) Anil Kumar Browne
(D) Anil Tipnis

72. The 103rd Session of the Indian Science
Congress was held in 2016 in
(A) Mysore
(B) New Delhi
(C) Jaipur
(D) Srinagar

73. The 2016 World Internet Conference was
held in
(A) USA
(B) China
(C) India
(D) Germany
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74. Hridaynath Mangeshkar Award 2016 was won
by
(A) Viswanathan Anand
(B) Vishnu Prasanna
(C) Debashis Das
(D) S.L. Narayanan

75. The Headquarter of World Bank is in
(A) New York
(B) Washington D. C
(C) Vienna
(D) Brussels

76. The author of ‘Kadambari’ was
(A) Kshemendra
(B) Kalhana
(C) Bhababhuti
(D) Banabhatta

77. The Mauryan ruler who used the name ‘Piyadasi’
in his official declarations was

(A) Bimbisara

(B) Ashoka

(C) Chandragupta Maurya
(D) Brihaddrata

78. The Chinese traveller Hiuen Tsang came to India
during the reign of
(A) Samudragupta
(B) Ashoka
(C) Harsavardhan
(D) Kulotunga I

79. The Delhi Sultan who transferred the capital
from Delhi to Daulatabad (Devagiri) was
(A) Qutbuddin Aibak
(B) Iltutmish
(C) Muhammad-bin Tughlaq
(D) Firoz Shah Tughlaq

D-12

80. Which historian is famous for his research on
Mughal History?
(A) Sumit Sarkar
(B) Jadunath Sarkar
(C) Sushobhan Chandra Sarkar
(D) S. Gopal

81. Which Mughal emperor wrote his own
autobiography?
(A) Babur
(B) Akbar
(C) Shah Jahan
(D) Aurangzeb

82. ‘Sulh-i-Kul’ was a policy introduced by
(A) Akbar
(B) Aurangzeb
(C) Jahandar Shah
(D) Mohammad Shah

83. Rana Pratap belonged to the Rajput dynasty of
(A) Kachwa
(B) Sisodiya
(C) Solanki
(D) Paramara

84. ‘Ashtadiggajas’ were patronised by
(A) Deva Rayal
(B) Deva Raya Il
(C) Vira Narasimha
(D) Krishna Deva Raya

85. Which Magadha ruler was known as ‘Seniya’?
(A) Bimbisara
(B) Ajatashatru
(C) Mahapadma Nanda
(D) Chandragupta Maurya
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86. Which of the following is a Harappan site located
in Rajasthan?
(A) Mohenjo Daro
(B) Suktagen Dor
(C) Kalibangan
(D) Lothal

87. The famous physician during Buddha’s time was
(A) Kautilya
(B) Nachiketa
(C) Charaka
(D) Jivaka

88. Who was the founder of the Harijan Sevak
Sangh?
(A) B G Tilak
(B) N M Lokhandy
(C) M K Gandhi
(D) B R Ambedkar

89. Dewan Velu Thampi’s rebellion against the
British took place in the Indian state of
(A) Awadh
(B) Kashmir
(C) Travancore
(D) Mysore

90. The nationalist organisation ‘Poona Sarvajanik
Sabha’ was established in the year
(A) 1870
(B) 1885
(C) 1890
(D) 1900

91. The custom of ‘Sati’ was banned through
legislation in the year
(A) 1795
(B) 1800
(C) 1829
(D) 1858

92. The Sikh Guru executed by the Mughal emperor
Aurangzeb was
(A) Tegh Bahadur
(B) Nanak
(C) Govind Sing
(D) Arjun Dev

93. The Satnami rebellion took place during the reign
of Mughal emperor
(A) Akbar
(B) Jahangir
(C) Shah Jahan
(D) Aurangzeb

94. The first session of the Indian National Congress
in 1885 was held in the city of
(A) Calcutta
(B) Bombay
(C) Madras
(D) Allahabad

95. The Younghushand Mission to Tibet was sent by
which Viceroy?
(A) Ripon
(B) Lytton
(C) Mayo
(D) Curzon

96. The title ‘Raja’ was conferred on Ram Mohun
Roy by the Mughal emperor

(A) Jahandar Shah

(B) Mohammad Shah
(C) AkbarII

(D) Bahadur Shah Zafar

97. The author of ‘Neel Darpan’ was
(A) Rabindranath Tagore
(B) Dinabandhu Mitra
(C) Girish Chandra Ghosh
(D) Bepin Chandra Pal
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98. ‘Razmnama’ was a Persian translation of
(A) Upanishad
(B) Ramayana
(C) Geeta
(D) Mahabharata

99. The auhor of ‘Ain-i-Akbari’ was
(A) Badayuni
(B) Abul Fazl
(C) Shaikh Mubarak
(D) Faizi

100. The leader of the Munda rebellion (Ulgulan) was
(A) Sidho
(B) Birsa
(C) Bapat
(D) Korra Malya

101. In which year was the Indian National Congress
established?
(A) 1883
(B) 1885
(C) 1891
(D) 1905

102. “Swaraj is my birth right”— who said?
(A) Lala Lajpat Rai
(B) Aurobindo Ghosh
(C) Netaji Subhas Chandra Bose
(D) Bal Gangadhar Tilak

103. Which political party was founded in 1906?
(A) Bharat Sabha
(B) Mauslim League
(C) Bengal Zamindars League
(D) Communist Party of India

D-16
@

104. With which Revolt names of Sidhu and Kanu are
associated?
(A) Santhal
(B) Chakma
(C) Khasi
(D) Indigo

105. Who was the Governer General of India at the
time of the outbreak of the Revolt of 18577
(A) William Bentinck
(B) Lord Cornwallis
(C) Lord Canning
(D) Lord Dalhousie

106. After which incident the Non-Cooperation
movement was withdrawn by Mahatma Gandhi?

(A) Chauri Chaura incident

(B) Rowlatt Act

(C) Jallianwala Bagh massacre

(D) Dandi March

107. In which year was the Lucknow Pact signed
between the Muslim League and the Indian National
Congress?

(A) 1907
(B) 1911
(C) 1916
(D) 1919

108. was the centre of the Aligarh movement.
(A) The Deoband School
(B) The Anglo-Oriental College
(C) Pir-Fakir Majlis
(D) The Khilafat Committee

109. The Morley-Minto Reform was declared in the
year -

(A) 190

(B) 1909

(C) 1911

(D) 1919




98. ‘FEmam’ (@ %b7 Fraf wwgam, ¢ &=
(A) Toifaaw
(B) A
(C) Fret
(D) STere

99, WZH-2-WFAR ATHA ETLF TE
(A) el
(B) wIg&T Fewe
(C) o AT
(D) =f&

100. ! Rz (Tareen )93 (9% ¢
(A) Bt
(B) "=t
(C) 3
(D) i s

101. SIS G I IS I ifoe za e
(A) 1883
(B) 1885
(C) 1891
(D) 1905

102. “Fa1& SNE SHe1e g —ofeh e
(A) #e FrEele A
(B) W™ Q19
(C) olf& oI @
(D) e siEid foer

103. 1906 T (I ASATSS WEETa 2ifow! 2a e
(A) OIS e
(B) sEferst &t
(C) % &hmiF Ael
(D) ©ed FWTFH A%

D-17

106.
IEA?

109.

BP/17

104. 14 @ I3 W (e [oareza s 7@ 2

(A) eor
(B) vi
(C) fA
(D)

105. BieiifE fRwazz s (1857) ©iRTed IEG &
IEGLES

(A) T3feram 2f%%
(B) 16 femfer
(C) =76 Fifac

(D) =6 TR

(IR SO 2/ RIS AR SR ST 2SR

(A) =

(B) NGB Sz

(C) wifemmenERIs TS
(D) ©if& w16

107. SIS I € AT A W IS A FACH
pfe Frlae 2 e

(A) 1907 #IT=t
(B) 1911 A
(C) 1916 A=
(D) 1919 #It=

108. SfFC ST o &

(A) (reI™ Fa1

(B) S Sfamrom Iwere
(C) Az =fda wm

(D) Rerwe 3

AT AT IO AN @S e
(A) 1907 A&
(B) 1909 A&
(C) 1911 A&
(D) 1919 I

[Please Turn Over]



BP/17

110. When and where did the Jallianwala Bagh
massacre take place?

(A) 1906, Amritsar

(B) 1906, Lahore

(C) 1919, Karachi

(D) 1919, Amritsar

111. Who was the President of the First Session of the
Indian National Congress?
(A) Womesh Chandra Bonerji
(B) Surendra Nath Banerjee
(C) Firoz Shah Mehta
(D) A.O. Hume

112. Which phase is considered to be the liberal phase
of Indian National Congress?
(A) 1885-1895
(B) 1885-1905
(C) 1905-1915
(D) 1895-1925

113. The Partition of Bengal was annulled in the year
(A) 1907
(B) 1909
(©) 1911

(D) 1914

114. On the eve of which movement Mahatma
Gandhi gave the slogan of “Do or Die”?
(A) Khilafat movement
(B) Naval Revolt
(C) Quit India movement
(D) Dalit-Harijan movement

115. Who was the founder of the ‘Forward Bloc’?
(A) Subhas Chandra Bose
(B) Rasbehari Bose
(C) Chittaranjan Das
(D) C. Rajagopalachari

D-18

116. Which Mission/Commission visited Indiain 19467
(A) Cripps’ Mission
(B) Cabinet Mission
(C) Simon Commission
(D) Hunter Commission

117. When did the Chittagong Armoury Raid take
place and who was its chief organizer?
(A) 1930, Surya Sen
(B) 1929, Batukeshwar Datta
(C) 1929, Sachindra Nath Sanyal
(D) 1930, Ram Prasad Bismil

118. The Indian Independence Act was passed in
(A) July, 1947
(B) June, 1946
(C) August, 1947
(D) August, 1946

119. Who was the First Governor General of
independent India?

(A) Chakravarti Rajagopalachari

(B) Clement Attlee

(C) Lord Wavell

(D) Lord Mountbatten

120. Who was the First Governer General of Pakistan?
(A) Lord Mountbatten
(B) Mohammad Ali Jinnah
(C) Syed Amir Ali
(D) Mohammed Seikh Abdullah

121. Inwhich yearthe Pakistan resolution was adopted
by the Muslim League and where?
(A) 1929, Lahore
(B) 1930, Allahabad
(C) 1940, Lahore
(D) 1940, Dhaka
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122. In its Lahore Session (1929), which of the
following was declared to be the aim of the Indian
National Congress?

(A) Complete Independence
(B) Dominion Status

(C) Quit India

(D) None of the above

123. Who was the founder of the ‘Azad Hind Fauz’?
(A) Subhas Chandra Bose
(B) Rashbehari Bose
(C) Shah Nawaz Khan
(D) Captain Mohan Singh

124. Who considered the proposals of the Cripps’
Mission as a ‘post-dated cheque’?
(A) Moulana Abul Kalam Azad
(B) Sardar Ballabhbhai Patel
(C) Mahatma Gandhi
(D) B.R. Ambedkar

125. Which Party gave a call for ‘Direct Action’ and
which date was chosen as the ‘Direct Action Day’?
(A) Muslim League; 16th August, 1946
(B) Indian National Congress; 8th August, 1942
(C) The Hindu Mahasabha; 3rd June, 1946
(D) Indian National Army; 18th August, 1945

126. The Western Ghats is an important mountain
system of the west coast of India. The word ‘Ghat’
means

(A) Port

(B) Stair

(C) Thrust

(D) Gap or pass

127. Name of the capital of the newly formed state of
Andhra Pradesh is
(A) Amaravati
(B) Secunderabad
(C) Hyderabad
(D) Vishakhapatnam

128. Pollavaram Project is associated with the river
(A) Cauvery
(B) Penner
(C) Krishna
(D) Godavari

129. Which one of the following is not an
administrative division of West Bengal?

(A) Jalpaiguri

(B) Malda

(C) Kolkata

(D) Bardhaman

130. InWest Bengal ‘Rarh’ is a physiographic region,
part of which can be found in the district of
(A) Coochbehar
(B) Nadia
(C) Paschim Medinipur
(D) South 24 Parganas

131. Which district of West Bengal has achieved the
highest level of Human Development Index in the state?
(A) Kolkata
(B) Purba Medinipur
(C) Bardhaman
(D) North 24 Parganas

132. What was the primary objective of construction
of the Farakka Barrage?
(A) Flood control in the lower Bengal
(B) Augmentation of water supply in the Hugli
river
(C) Generation of electricity for West Bengal
(D) Inland water transport in Bihar

133. ‘Toto’ is a primitive tribal community found in
the state of
(A) Arunachal Pradesh
(B) Odisha
(C) West Bengal
(D) Tamil Nadu
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134. Which one of the following is not mined in the
delta region of West Bengal?
(A) Natural gas
(B) Clay
(C) Sand
(D) Groundwater

135. Drought is occasionally experienced in the
plateau region of West Bengal because of
(A) Lateritic soil
(B) Extremely low rainfall
(C) Excessive evapo-transpiration
(D) Inefficient water management

136. India’s share of total land area in the world is
about
(A) 2-4 per cent
(B) 2-8 per cent
(C) 3:2 per cent
(D) 3:-6 per cent

137. In terms of longitude the easternmost state of
India is

(A) Mizoram

(B) Manipur

(C) Nagaland

(D) Arunachal Pradesh

138. The summer monsoon normally arrives in the
South Bengal during

(A) 1-5 June

(B) 5-10 June

(C) 10-15 June

(D) 15-20 June

139. Which state of India experiences the maximum
annual variation of rainfall?
(A) Meghalaya
(B) Kerala
(C) Rajasthan
(D) West Bengal

140. In India the maximum area is covered by the
(A) Lateritic soils
(B) Red soils
(C) Black soils
(D) Alluvial soils

141. As per Census of 2011 the share of population
below the age of 35 years in India is
(A) 50 per cent
(B) 55 per cent
(C) 60 per cent
(D) 65 per cent

142. The Damodar Valley Corporation (DVC) is

(A) acentral government organization of India.

(B) a state government organization of
West Bengal.

(C) a government organization represented by
both the central (India) and the state
governments of West Bengal and Jharkhand.

(D) an organization of the state governments
of West Bengal and Jharkhand.

143. Interms of area and population the largest urban
agglomeration in India is
(A) Mumbai
(B) Delhi
(C) Kolkata
(D) Chennai

144. Which one of the following sea ports has natural
harbor?
(A) Chennai
(B) Vishakhapatnam
(C) Haldia
(D) New Tuticorin

145. Bhilai in the state of Chattishgarh is famous for
the industry of
(A) Cotton textile
(B) Fertilizer
(C) Iron and Steel
(D) Aluminium
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146. ‘Shifting cultivation’ is not practiced in which
one of the following states?
(A) Assam
(B) West Bengal
(C) Odisha
(D) Andhra Pradesh

147. Which one of the following crops witnessed the
maximum rate of increase of production due to the
Green Revolution in India?

(A) Wheat
(B) Rice
(C) Oil seeds
(D) Maize

148. In terms of value of agricultural production the
most important cash crop in India is
(A) Cotton
(B) Oil seeds
(C) Sugarcane
(D) Tobacco

149. In India petroleum oil was first discovered in
(A) Surma Valley
(B) Digboi
(C) Rudrasagar
(D) Nahorkatia

150. Which state of India has the largest installation
of wind power?
(A) Gujarat
(B) Mlaharashtra
(C) Karnataka
(D) Tamil Nadu

151. Five boys are sitting in a row. Kajol is sitting in
between Piyush and Paresh while Gogol is sitting in
between Ronnie and Piyush. Whoisssitting at the extreme
right of Gogol?

(A) Paresh
(B) Piyush
(C) Ronnie
(D) Kajol

152. Five boys are so standing that they form a circle.
Rahim is between Ajoy and Tom. Salman is to the left of
Bablu and Ajoy is to the left of Salman. Who is to the
right of Bablu?

(A) Tom
(B) Ajoy
(C) Rahim
(D) Salman

153. If a * b = ab + b — a, what is the value of ¢ such
that c % (2 % 5) =97?
(A) 8
B) 7
©€)'3
(D) 91

154. Ifa+bmeans ‘atobeaddedtob’ anda x bmeans
‘atobedivided by b’, then the value of (14 + 7) + (14x7)
is

(A) No value
(B) 1

(C) 23

(D) 7

155. Choose tue odd one
(A) Strawberry
(B) Blackberry
(C) Gooseberry
(D) Beriberi

156. If MASON is coded as NBTPO, then WORLD
is coded as

(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

157. If BOY is coded as ZPC, then GIRL is coded as
(A) STHM
(B) MSJH
(C) JHMS
(D) HMSJ
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(A) 8

(B) 7

©) 3

(D) 91

154. a -+ b-93 T a -9 AN b-97 @19 932 axbh -9
A b @Al a (3 ©19 (&, (14+7)+(14x7) 93 N 2@
(A) V19 (7%
(B) 1
(©C) 23
(D) 7

155. @G witetmt 2
(A) F==
(B) iwast
(C) oo
(D) @ff

156. MASON (& FIF[$F ©Itd NBTPO =74l 37,
WORLD & (&4 303
(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

157. BOY & 7Kfeaeita ZPC @12 207, GIRL &
@1 2@
(A) STHM
(B) MSJH
(C) JHMS
(D) HMS]J
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158. fa® b=L.C.M.of aand b,a® b=G.C.M. of
a and b, then (12 ® 16) ® (24 ® 36) will be
(A) 4
(B) 2
(© 12
(D) 16

159. The 6th term in the following series
ab’+ be* + cd*+ de* + ...
(A) ef?
(B) fle
©) fe’
(D) gf

160. Manipuri is to Dance as Urdu is to
(A) Muslims

(B) Drama

(C) Poetry

(D) Language

161. A man starts from his office and goes 8 km East.
Then he turns to the left and walks for 3 km. Again he
turns left and walks for 8 km. At what distance is he from
the starting point?

(A) 5km
(B) 4km
(C) 6 km
(D) 3 km

162. Due to some error in the weighing machine,
Aahana’s weight was shown 72 kg as against the actual
value of 80 kg. The percentage error is

(A) 9%

(B) 8%

(C) 10%

(D) None of the above

163. A man won Rs. 60,000 in a lottery. 35% of the
money was taken by the Govt. as a tax. He actually
receives

(A) Rs. 21,000
(B) Rs. 39,000
(C) Rs. 18,000
(D) Rs. 40,000
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164. Due to rotten fish, a fish trader forces to sell in
10% loss. If the purchase value is Rs. 250, the selling
price will be

(A) Rs. 225
(B) Rs. 240
(C) Rs.235
(D) Rs. 230

165. Number : Mathematics : : Notes : ?
(A) Currency

(B) Language

(C) Music

(D) Doctor

166. P is sister of Q. Q is the wife of R. S and R are
brothers. What is P to R?
(A) Sister-in-law
(B) Aunty
(C) Mother
(D) Mother-in-law

167. 40% of A is 60% of B. A : B will be
(A) 2:3
(B) 3:2
()78

(D) 8:7

168. Ratio of Bus and Train fare is 4 : 5. If Bus fare
increases by 10% and Train fare increases by 20%, new
ratio of Bus and Train fare will be

GA) il
(B) 7:13
(&) 11515
(D) 5:9

169. A goes to a party hosted by his brother B. B has
a daughter C. C has a brother D. What is D to A?
(A) Maternal-uncle
(B) Uncle
(C) No relation
(D) Nephew




158. a®@b=a 9RH- QT AAB IR a® b = g LEK
b-93 I ALS A, (12 ® 16) © (24 @ 36)-499 3 79
(A) 4
(B) 2
(©) 12
(D) 16

159. FisffRe series-«3 79 *wfs 3@
ab’ + b +cd + de* + ...
(A) ef?
(B) fe
©) fg?
(D) g

160. f4+f7 ¢ Dance ©rars B 2
(A) ifers
(B) gl
(C) ezl
(D) #ReEs

161. & & wifF (0 T4 < 02 8 km 2 a1,
©fef s o2 3 km 0B @3 A S 903 8 km
2T | IANEF (A (T FOB! TG ?

(A) 5km
(B) 4 km
(©) 6km
(D) 3km

162. Ty eoa 0 &= SR 2pS 6T 80 k-7
A0S 72 kg T, *owl RBrnE wha sAfawe 5=
(A) 9%
(B) 8%
(C) 10%
(D) Toitza i3 7

163. #bifaTe @ A& 60,000 Bit CoicTEs, o e
A 35% @ e, IfEh o
(A) 21,000 Bt
(B) 39,000 5=t
(C) 18,000 Bi=st
(D) 40,000 Bi=st
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164. =5 W2F &=, e [eFel 10% =fore W Gt
PR | A0S T 250 Brwl 20, ey 203

(A) 225 Bl

(B) 240 Bt

(C) 235 Bt

(D) 230 5r=et

165. Number : Mathematics : : Notes : ?
(A) iz
(B) "TR%ES
(C) fefes
(D) ©34

166. P,Q-g=fl, R-47 % Q |S 93: R &el, P~ga 575
R-93 Ft Ao 7

(A) Sister-in-law

(B) Aunty

(C) Mother

(D) Mother-in-law

167. A-93 40%-97 W9, B-93 60% <43 N 9 20,

A:B33
(A) 2:3
(B) 3:2
(). 758
(D) 8:7

168. AP '€ G OIIA SIS 4 : 5, AT ©fet 10% 932
QTR SISl 20% MES Ze, 377 8 (G ©IUR T Sairo
@

(A) 15:11

(B) 7:13

(C) 11:15

D) 5:9

169. A I ©f2 B-93 (v #4if67e, B-93 31 C, C~43
©i2 D, D-47 A3 A-97 FI 5794 7
(A) Maternal uncle
(B) Uncle

(C) @€ 5= 73
(D) Nephew
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170. Hockey : India : : Baseball: ?
(A) Canada
(B) Mexico
(C) England
(D) America

171. A box contains one red ball, one blue ball and one
green ball. The ratio of the weight of the red and blue ball
is 5 : 6 and that of blue and green ball is 5 : 4. If the blue
ball weighs 60 g, the weight of the green ball is

(A) 48 ¢
(B) 50g
(C) 40 g
(D) 55¢

172. The population of a district increases by 4%
during the first year and decreases by 5% during the
second year. If the present population of a district is
494000, two years ago it was

(A) 475000
(B) 500000
(C) 525000
(D) 600000

173. A man deposited Rs. 3,000 in a Bank and
Rs. 2,500 in a Post Office. Rate of interest of Bank is /2%
more than that of Post Office. If he gets Rs. 235 as total
interest at the end of the year, the rate of interest of
Post Office is

(A) 2%
(B) 2V2%
(C) 4%
(D) 4%2%

174. A person, standing on a railway platform 120
meters long, notices that a train, which passed him in
5 seconds, passed completely through the station in
15 seconds. The length of the train is

(A) 50m
(B) 60 m
(C) 100 m
(D) 55m

175. In an examination, 35% students fail in
Mathematics, 15% fail in English. If 10% fail in both,
the pass per cent is

(A) 60%
(B) 40%
(C) 35%
(D) 25%

176. In terms of population India ranks second in the
world, while in terms of area India ranks
(A) first
(B) second
(C) seventh
(D) eighth

177. The service sector of India generates more than
(A) 33% of GDP
(B) 40% of GDP
(C) 42% of GDP
(D) 50% of GDP

178. In the wake of the Stockholm Conference, the
Government of India set up the National Committee on
Environmental Planning and Coordination in the year

(A) 1972
(B) 1980
(C) 1985
(D) 1990

179. The Human Development Index was first
introduced in the year

(A) 1980

(B) 1990

(C) 1995

(D) 2000

180. The Second Five Year Plan of India was based on
(A) the Harrod-Domar Model
(B) the Solow Model
(C) the Mahalanobis Model
(D) the Mahatma Gandhi’s Vision

181. World Development Report is published by
(A) the United Nations Organisation
(B) the Asian Development Bank
(C) the World Bank
(D) the World Trade Organisation




170. Hockey : India :
(A) T
(B) i3t
(C) i
(D) izt
171. &35 A0 G316 =11 761, @b Re 71 & 93 Ty
T IR | 161 6 e IR ST AT 5 : 6 G2 e 8
TG AT ST A 5 : 4 | [e I GG 60 SN
(A, IO AT ST (A
(A) 48 o
(B) 50 4t
(C) 40 ot
(D) 55 A
172. (PG G2 (ST AR 22N %A 4% I
3% TRl T2 5% 3T #i | TENW ERHRAT 494000
20+, 4 %R e AR e
(A) 475000
(B) 500000
(C) 525000
(D) 600000
173. % & Bank-4 3000 5i% €32 Post Office~4
2500 "B‘W Sl S | Bank-43 3 217 Post Office-43
~%c<ﬁr O AL (40T G0 235 51w (I 7% (oAt
Post Office-93 307 29 21
(A) 2%
(B) 2;%
(C) 4%
(D) 43%

174. 120 fSi5r7 o791 @2 Aol vikw 2 3 i
% A (3, GAD SIS 5 EIATS 32 5e G 15
(A) 50 G
(B) 60 fior
(C) 100 fiior
(D) 55 fiGi=
175. @3f5 AR 9T 35%, BAENTS 15% (F51 303 |
W 7% REw 10% @1 303, 27 *saat 27 2@
(A) 60%
(B) 40%
(©) 35%
(D) 25%

: Baseball : ?
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176. TPRYE B 2fAAe oire oy 3w, e
(A) 2iey
(B) fadim
(C) e
(D) =&

177. SRR wRfen GRITH
(A) GDP-7 33% -3 (@ Tesfifre 23|
(B) GDP-3 40% ~43 (A% Tesiive 37|
(C) GDP-? 42% -3 (Af% Tesiifre 27|
(D) GDP-3 50% -3 (3 Besfifvs =37

178. SOICEIN ITFIAGIA (LFI0D SIS FAPT AT
AT € FNEHSIA wreiy IR 19w T

A) 1972 Hita

(B) 1980 1t#

(C) 1985 7ite

(D) 1990 FHitE

179. W% Tz 753 AN A3%S T
(A) 1980 HitsT
(B) 1990 It
(C) 1995 A=
(D) 2000 A=

180. ©RTe7 fG8I A%ARR +fawswi oz
(A) FAC-(TT oG 7 |
(B) GteNR g fAsq |
(C) TEwan og sy |
(D) = siiffa wfa ffda |

181. o Tzt Rt oom a2
(A) AFHRE
(B) «f¥aiz Taze e
(C) o 3
(D) o atfees gz
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182. The firstrailway line of India was operationalised
in 1853 between
(A) Howrah and Delhi
(B) Bombay and Thane
(C) Howrah and Bombay
(D) None of the above

183. The unorganised sector of India is characterised

(A) more currency transactions.

(B) more bank transactions.

(C) more barter transactions.

(D) more foreign exchange transactions.

184. More than 50% of the working population in
India depend on
(A) the primary sector.
(B) the public sector.
(C) the tertiary sector.
(D) the industrial sector.

185. The largest contributor to the gross domestic
savings of India is
(A) the household sector.
(B) the private corporate sector.
(C) the public sector.
(D) the foreign sector.

186. In India non-agricultural income tax is
(A) levied by the Centre and fully distributed
among the States.
(B) levied by the States.
(C) levied and appropriated by the Centre.
(D) levied by the Centre and shared with the
States.

187. In India the Repo rate is announced by
(A) the Ministry of Finance, Government of
India
(B) the Prime Minister of India
(C) the Reserve Bank of India
(D) the President of India
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188. The Special Economic Zones Act was passed by
the Indian Parliament in 2005 and the Act came into
force in

(A) 2006
(B) 2009
(C) 2014
(D) 2016

189. ‘Economic Reforms’ were introduced in India in
(A) 1989
(B) 1990
(C) 1991
(D) 1992

190. AGMARK is related to
(A) industry
(B) the Indian Railways
(C) agricultural goods
(D) agricultural finance

191. The objective of the Fiscal Responsibility and
Budget Management Act, 2004 is
(A) to reduce revenue deficit.
(B) to reduce fiscal deficit.
(C) to ensure that public debt does not exceed
50% of the GDP of the year from 2011.
(D) All of the above

192. Which of the following was not included when
the writing of the Constitution of India was completed
on 29.11.19497

(A) Fundamental Rights
(B) Fundamental Duties
(C) President’s Rule
(D) Emergency

193. To pass a Money Bill in the Parliament which of
the following is not necessary?
(A) Approval of the Lok Sabha
(B) Approval of the Finance Minister
(C) Approval of the Rajya Sabha
(D) None of the above




182. 1853 AT OIS 2N (T #12w bie]
(A) 2ewl ¢ fafEg s
(B) (AT € AT 5y |
(C) QST € @ITEA Ty |
(D) ©oitza @ 7 |

183. SRS wPsifde croaw afiey o=
(A) R F151 BIwrR @e |
(B) @ s eeme |
(C) &M w-Rfasm o |
(D) A tatfRs @t e |

184. SIATS T GPRAE 50%-93€ @ 757 2w
(A) i CFrga Toig |
(B) ==ifd oFrad ©ofa |

(C) TOF */A9e wtaa Baig |
(D) Pmrwtas Toig |

185. ©IA0SA (G Sege FHeerH FfEF S@wie za
(A) #fq cweaa |
(B) =R<ifd Mg
(C) ==IfF s |
(D) T CFEa |

186. SIS T-IRGI® HHwA
(A) @& 0 33 @ Ay Jrarsif fiw om |
(B) ey 4 37 |
(C) @& 4 37 ¢ Araifa M =77
(D) =% 41 A @ el A ©isl = =77 |

187. SRATS @A A (N I
(A) SIS FET Sred
(B) SRS A4iwwR!
(C) sIFem fFers i
(D) Sred g
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188. Ry weftafos wwa @iz ©meny siwEfiers
2005 I ST BH 4R & A Fe7e =7

(A) 2006 its1

(B) 2009 =

(C) 2014 A

(D) 2016 Aita

189. T4TAow AeHA" SIS (I A1TE Sy 2w 2
(A) 1989
(B) 1990
(©) 1991
(D) 1992

190. AGMARK fsfifRe @mfbe sine sradge »
(A) i
(B) SIFSR (@5
(C) 3=y

(D) FR->icwe wid

191. ‘AeE-MIRIG S D GIZIASZA-2004 97 Sy
Eg|
(A) @I 956fS P! |
(B) %% QiGe =T |
(C) 2011 & (A B AoF 2ifFsne 7fwm
A9 GDP-3 50%-43 @ =1 2t |
(D) Toitza ek

192. 29/11/1949 Sifate T2+ ©rer 5[4 @Ag 3
1 2 o fasfefie @i swse fae ae

(A) GNife Gt

(B) Ghifeis 363y

(C) S *7m

(D) w=fq oz

193. AfGIS @il Re ST o= fafiRie @mb
wsifage T e

(A) FERSTSI S

(B) SINE SR

(C) AGPTeIA S

(D) Toitza @=b2 71
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194.

195.

196.
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‘Law and Order’ is included in the
(A) Concurrent List

(B) State List

(C) Union List

(D) None of the above

The Chairman of the Rajya Sabha is

(A) the leader of the opposition.

(B) nominated by the President of India.

(C) the Vice-President of India.

(D) nominated by the Vice-President of India.

The SEBI was given statutory recognition in

1992 on the recommendation of

(A) the Chakraborty Commission.
(B) the Chelliah Committee.

(C) the Tendulkar Committee.
(D) the Narasimham Committee.

197. The Reserve Bank of India was established in the

year

198.

(A) 1930
(B) 1935
(C) 1947
(D) 1951

Grants-in-aid are provided for in the Constitution

of India under Articles

1990

200.

(A) 274 and 275
(B) 275 and 296
(C) 275 and 285
(D) 275 and 282

The Panchayati Raj system of India has
(A) one-tier

(B) two-tiers

(C) three-tiers

(D) four-tiers

The first citizen of the Republic of India is
(A) the Chief Justice of the Supreme Court.
(B) the President of India.

(C) the Prime Minister of India.

(D) the Speaker of the Lok Sabha.




194. WiRA-EE sfie @n ofer sese
(A) @e ©ifer
(B) Avey Sifert
(C) @™ oiferast
(D) THEa @Ee 73

195. AR G LA+
(A) Ri@ verm @t |
(B) A7 wr=iie 31wy |
(C) ORISR To-a1geif® |
(D) To-a1geifSq Weae 7wy |

196. 1992 7its SEBI- s Figfe oren =n
(A) PEFIS! FREMT 21T S |
(B) comizal sfiifba awiq s |
(C) CogeTRR MM 2B S |
(D) 7Pz Ffilba e S |
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197. oReR e Ae-az AfSHig A= ==
(A) 1930
(B) 1935
(C) 1947
(D) 1951

198. SIS RN AR ol 4 2y Sl
J3E A2

(A) 2748 275 4171

(B) 275 € 296 4ra

(C) 275 285 ural

(D) 2758 282 4131

199. SRR WIS e W2z
(A) 9T
(B) 2%
(C) fos-wdm
(D) SlE-%am

200. ©ITSR AGTerFA AU F9ifEF ZFw
(A) THON TR 24l Foraeife
(B) Sfared agsife
(C) SRS 2@l
(D) GRS B4
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